HE

OLIDAY

outdoor decor

Twinkly Pro™ Branch Tree

Assembly Instructions
Up to 60' Heights

“Husinkby

PRO




outdoor decor

Twinkly Pro™ Branch Tree
Assembly Instructions

Up to 60' Heights

“Husinkby

/\ 4' TOPPER
L

\

60’

PRO

b/ 1Y BARREL A (1 Section)
b/ BARREL B (1 Section)
o BARREL C (1 Section)
./ BARREL D (1 Section)
N BARREL E (2 Sections)
N BARREL F (2 Sections)
N BARREL G (4 Sections)
o BARREL H (4 Sections)
%L BARREL I (6 Sections)
NN | 1\ BARREL J (6 Sections)
M ] ||\ BARREL K (6 Sections)
X | |\ BARREL L (6 Sections)
N T |\ BARREL M (8 Sections)
e M1 [T\ BARREL N (8 Sections)
N [1 1\ BARREL O (8 Sections)
ST [T \\ BARREL P (8 Sections)
ST [T T\ BARREL Q (8 Sections)
ST | "\ BARREL R (8 Sections)
N T ] T | | BARREL s (8 Sections)
N ] T 1 \\ BARREL T (8 Sections)
&
el [l ] | | 1 | \\ BARREL U (8 Sections)
ML T ] T | \| BARREL V (8 Sections)
c_\l"\////// // I[ \\ \\ \\ \Q\BARREL W (8 Sections)
ik BARREL X (8 Sections)
(.::’I [l ] | | 1 | |\ BARREL Y (8 Sections)
% [/] | | | 1 | '\ BARREL z (16 Sections)
=L HF ] | | | \\| BARREL AA (16 Sections)
‘l_/ [l | | | | | \\\| BARREL BB (16 Sections)
BASE DIAMETER 30’
TOTAL BARRELS (LEVELS) 28
TOTAL FRAME SECTIONS 194
TOTAL BRANCHES 411
TOTAL PIXELS 103,250
TOTAL CONTROLLERS 69
POWER REQUIREMENTS 120A




SECTION CONNECTION DETAIL

FRONT VIEW SIDE VIEW

NUMBER PLATE IS LOCATED
IN THE UPPER RIGHT HAND CORNER
OF EACH SECTION

(see individual barrel
diagram for alignment)

STEEL MOUNTING PLATE
(see individual barrel diagram for details)

STEEL MOUNTING PLATE

|

SECTION a: e e _ _ _

| [
| [
| [
| [
| [
| [
| [
| [ (2) 3/8"@x8" BOLTS, NUTS AND
VERTICAL SUPPORT MEMBER | ‘ WESHERS AT FRAMSISECTIONS
| [ PROVIDE 1/2"@ HOLES IS
} } VERTICAL MEMBERS
| [
| [
| [
| [
| [
| [
| [

VERTICAL SUPPORT MEMBERL

BARREL CONNECTION DETAIL

SIDE VIEW

TOP STEEL PLATE TO

| X | MATCH BOTTOM 11z
NOTWEIDED H RING BOTTOM TUBE STEEL
lr J 1 o 1
= —— == [ G :
0 2
E Sl —_——— E_E
> >
A [ 1 B N N S S €
[smi oy oy
\—BOTTOM STEEL MOUNTING PLATE \ \RING TOP TUBE STEEL
SEE PLAN AND DETAILS FOR (2)8/3°@ BOLTS & NUTS
SEE SCHEDULE FOR LENGTH
TOP VIEW
PLATE & BOLT SCHEDULE
{ X | BARREL ATO L: PLATE (X) = 3", BOLT LENGTH = 4"
. . BARREL M TO R: PLATE (X) = 3.25", BOLT LENGTH = 5"
8 e _ g =l THICKSTEEL FLATE BARREL S TO Y: PLATE (X) = 3.5", BOLT LENGTH = 5"
N TYPICAL TOP & BOTTOM BARREL Z TO II: PLATE (X) = 4" BOLT LENGTH = 6"
| | ] SEE SCHEDULE BARREL JJ TO 0O: PLATE (X) = 4.5" BOLT LENGTH = 7"

12" 12" BARREL PP TO WW: PLATE (X) = 5" BOLT LENGTH = 8"



1'-11 3/8"

}91/2

|

2'-6 7/8"

/

FRONT VIEW

FRAME TOP VIEW

‘ " RECEIVER FOR TOPPER
‘ 1-8 1/8" ’
o

BARREL - A

- 1SECTION
- 5 BRANCHES

(3) 3/8" THUMB SCREWS

3/8" THUMB SCREWS

3/8" HEX NUT
3/8"@ THREADED HOLE

INSERT TOPPER HERE

HORIZONTAL SUPPORTS

VERTICAL SUPPORTS
(3) 3/8" THUMB SCREWS -

BRANCH HOLDER
QUANTITY: 5

TOPPER RECEIVER DETAIL

2'-67/8" ‘

FRONT VIEW

’ 1-113/8"

3-55/8"

FRAME TOP VIEW

0

)

BARREL -B

-1 SECTION
-7 BRANCHES

STEEL CLAMP PLATE
QUANTITY: 3
EVENLY SPACED (SEE DETAIL)

BRANCH HOLDER
QUANTITY: 7



| 3-5 5/8"
t

1'-11.3/8"

/

4-41/4"

FRONT VIEW

FRAME TOP VIEW

0

P

BARREL -C

-1 SECTION
- 9 BRANCHES

STEEL CLAMP PLATE
QUANTITY: 4
EVENLY SPACED (SEE DETAIL)

BRANCH HOLDER
QUANTITY: 9

| 44 14"
‘ T

' 111 3/8"

| 5-3"
|

FRONT VIEW

FRAME TOP VIEW

BARREL -D

- 1 SECTION
- 11 BRANCHES

STEEL CLAMP PLATE
QUANTITY: 4

EVENLY SPACED (SEE DETAIL)

BRANCH HOLDER
QUANTITY: 11



| 5.3"

‘ 6'-15/8"

FRONT VIEW

BARREL -E

-2 SECTIONS
- 13 BRANCHES

FRAME TOP VIEW

FRAME SECTION

STEEL CLAMP PLATE
QUANTITY: 4
EVENLY SPACED (SEE DETAIL)

BRANCH HOLDER
QUANTITY: 13

6'-15/8"

T

;/ﬁfA

\

7-0 3/8"

FRONT VIEW

FRAME TOP VIEW

BARREL - F

-2 SECTIONS
- 15 BRANCHES

FRAME SECTION

STEEL CLAMP PLATE
QUANTITY: 4
EVENLY SPACED (SEE DETAIL)

BRANCH HOLDER
QUANTITY: 15



7'-0 3/8"

BARREL -G

/

1-11 3/8

|
|
- - 4 SECTIONS
> - 17 BRANCHES
B
\
|

1 711

FRONT VIEW

FRAME TOP VIEW

STEEL CLAMP PLATE
QUANTITY: 4
EVENLY SPACED (SEE DETAIL)

BRANCH HOLDER
QUANTITY: 17

| 711"
|

11 3/8'

]

1

8'-9 3/4"

1

FRONT VIEW

FRAME SECTION

FRAME TOP VIEW

BARREL - H

-4 SECTIONS
- 19 BRANCHES

STEEL CLAMP PLATE
QUANTITY: 4
EVENLY SPACED (SEE DETAIL)

BRANCH HOLDER
QUANTITY: 19

FRAME SECTION



8'-9 3/4" ‘

|
|
2 H‘ BARREL -1
8 , - 6 SECTIONS
! 9-8 3/8" ‘ - 21 BRANCHES
FRONT VIEW

60.0°

S

FRAME SECTION

STEEL CLAMP PLATE
EVENLY SPACED (SEE DETAIL)
QUANTITY: 6

| BRANCH HOLDER
11 ‘ QUANTITY: 21

FRAME TOP VIEW




1'-11 3/8

]

10-7 1/8"

FRONT VIEW

FRAME TOP VIEW

BARREL -J

- 6 SECTIONS
- 23 BRANCHES

60.0°

X

FRAME SECTION

STEEL CLAMP PLATE
EVENLY SPACED (SEE DETAIL)
QUANTITY: 6

BRANCH HOLDER
QUANTITY: 23



w1 e ‘ BARREL - K

|
|
T ' . - 6 SECTIONS
: ‘ H > - 25 BRANCHES
| | ]
[

11 3/8

1

11-57/8" 1

FRONT VIEW

60.0°

N

FRAME SECTION

STEEL CLAMP PLATE
EVENLY SPACED (SEE DETAIL)
QUANTITY: 4

BRANCH HOLDER
QUANTITY: 25

FRAME TOP VIEW




11'-57/8" ‘ |
I

m X BARREL - L
| - 6 SECTIONS

- | - 28 BRANCHES

1'-11 3/8'

]

FRONT VIEW

60.0°

S

FRAME SECTION

STEEL CLAMP PLATE
EVENLY SPACED (SEE DETAIL)
QUANTITY: 4

BRANCH HOLDER
QUANTITY: 28

FRAME TOP VIEW




124 1/2" I

13-3 1/4" |

FRAME TOP VIEW

BARREL - M

- 8 SECTIONS
- 30 BRANCHES

N
/\ﬁ
\ B

FRAME SECTION

STEEL CLAMP PLATE
EVENLY SPACED (SEE DETAIL)
QUANTITY: 4

BRANCH HOLDER\
QUANTITY: 30



13-3 1/4" ‘

: 1 BARREL - N

|
WEN [ I0e -8 SECTIONS

- 32 BRANCHES

11 3/8

1

14-17/8" | |

FRONT VIEW

/

pe &

FRAME SECTION

STEEL CLAMP PLATE
EVENLY SPACED (SEE DETAIL)
QUANTITY 4

BRANCH HOLDER
QUANTITY 32

FRAME TOP VIEW




141 7/8" ‘

[ITT T LU0 e

FRONT VIEW

FRAME SECTION

STEEL CLAMP PLATE

EVENLY SPACED (SEE DETAIL)
QUANTITY: 4

BRANCH HOLDER
QUANTITY: 34

FRAME TOP VIEW




15-0 5/8" I

T T T T U0E BARREL - P

- 8 SECTIONS
- 36 BRANCHES

‘ 1511 1/4" |
[

FRONT VIEW

FRAME SECTION

STEEL CLAMP PLATE
EVENLY SPACED (SEE DETAIL)
QUANTITY: 4

BRANCH HOLDER
QUANTITY: 36

FRAME TOP VIEW




15-11 1/4" ‘

T T T T T BARREL- Q

= - 8 SECTIONS
- 38 BRANCHES

16-10" |

FRONT VIEW

FRAME SECTION

STEEL CLAMP PLATE
EVENLY SPACED (SEE DETAIL)
QUANTITY: 8

BRANCH HOLDER
QUANTITY: 38

FRAME TOP VIEW




16'-10" !

7, TT T T T [0 CARREL-

- 40 BRANCHES

17'-8 3/4" |

FRONT VIEW

FRAME SECTION

STEEL CLAMP PLATE
EVENLY SPACED (SEE DETAIL)
QUANTITY: 8

BRANCH HOLDER
QUANTITY: 40

FRAME TOP VIEW




178 3/4" ‘

17w L
| |

18-7 3/8" | - 42 BRANCHES

FRONT VIEW

FRAME SECTION

STEEL CLAMP PLATE
EVENLY SPACED (SEE DETAIL)
QUANTITY: 8

BRANCH HOLDER
QUANTITY: 42

FRAME TOP VIEW




18'-7 3/8"

19'-6 1/8" |

|
Y
J

FRAME TOP VIEW

BARREL - T
- 8 SECTIONS
- 44 BRANCHES

FRAME SECTION

STEEL CLAMP PLATE
EVENLY SPACED (SEE DETAIL)
QUANTITY: 8

BRANCH HOLDER
QUANTITY: 44



19'-6 1/8" |

' BARREL - U

Y/ e
|

20-4 3/4" | - - 46 BRANCHES

FRAME SECTION

STEEL CLAMP PLATE
EVENLY SPACED (SEE DETAIL)
QUANTITY: 8

BRANCH HOLDER
QUANTITY: 46

FRAME TOP VIEW




20'-4 3/4"

| | — -
Y/ [ ] me  BAERLV
]

1 21-31/2" | - 49 BRANCHES

FRONT VIEW

FRAME SECTION

STEEL CLAMP PLATE
EVENLY SPACED (SEE DETAIL)
QUANTITY: 8

BRANCH HOLDER
QUANTITY: 49

FRAME TOP VIEW




21-31/2"

BARREL - W

.
I T T\%  -esecrions

i | 222 1/8" | ‘ - 51 BRANCHES
\ |

1'-11 3/8
\
§
§_
=

FRONT VIEW

FRAME SECTION

STEEL CLAMP PLATE
EVENLY SPACED (SEE DETAIL)
QUANTITY: 8

BRANCH HOLDER
QUANTITY: 51

FRAME TOP VIEW




22'-2 1/8"

I

I

23'-07/8"

|
T &

FRAME TOP VIEW

BARREL - X
- 8 SECTIONS
- 53 BRANCHES

VERTICAL SUPPORTS AT 23.5° O.C.

\ii FRAME SECTION

STEEL CLAMP PLATE
EVENLY SPACED (SEE DETAIL)
QUANTITY: 8

BRANCH HOLDER
QUANTITY: 53



23'-0 7/8" | |

BARREL - Y

= | —
I T 7 T\% -ssecrows

- 55 BRANCHES

| 23-111/2" |
I

FRONT VIEW

VERTICAL SUPPORTS AT 23.5° O.C.

FRAME SECTION

STEEL CLAMP PLATE
EVENLY SPACED (SEE DETAIL)
QUANTITY: 12

BRANCH HOLDER
QUANTITY: 55

FRAME TOP VIEW




| 2311 172" |

T _‘/

T T T T T 1 Wk BARREL - Z
| 2410 14 \ - 16 SECTIONS

| ' - 57 BRANCHES

1-11 3/8"

FRONT VIEW

FRAME SECTION

STEEL CLAMP PLATE
EVENLY SPACED (SEE DETAIL)

QUANTITY: 12

BRANCH HOLDER
QUANTITY: 57

FRAME TOP VIEW




2410 1/4" |

Il

I

1-11 3/8
44\v
~
I~

25'.9"

FRAME TOP VIEW

.
T &

BARREL - AA
- 16 SECTIONS
- 59 BRANCHES

05 w7 \

._WJ

A

FRAME SECTION

STEEL CLAMP PLATE

EVENLY SPACED (SEE DETAIL)
QUANTITY: 12

BRANCH HOLDER
QUANTITY: 59



25-9" |
|

I/ I 1 W& BARREL - BB

l 2617 5/8" | 1‘ -16 SECTIONS
- 61 BRANCHES

FRAME SECTION

STEEL CLAMP PLATE
EVENLY SPACED (SEE DETAIL)
QUANTITY: 12

BRANCH HOLDER
QUANTITY: 61

FRAME TOP VIEW




	Blank Page



